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❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s

❋ré❞ér✐❝ ❇♦♥♥❛♥s∗✱ P✐❡rr❡ ▼❛rt✐♥♦♥∗✱ ❱✐♥❝❡♥t ●ré❧❛r❞∗

Pr♦❥❡❝t✲❚❡❛♠s ❈♦♠♠❛♥❞s

❘❡s❡❛r❝❤ ❘❡♣♦rt ♥➦ ✽✵✺✸ ✖ ❙❡♣t❡♠❜❡r ✷✵✶✷ ✖ ✷✶ ♣❛❣❡s

❆❜str❛❝t✿ ■♥ t❤✐s ❞♦❝✉♠❡♥t ✇❡ ♣r❡s❡♥t ❛ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❝❧❛ss✐❝❛❧ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ♣r♦❜❧❡♠s ✇❤✐❝❤
❤❛✈❡ ❜❡❡♥ ✐♠♣❧❡♠❡♥t❡❞ ❛♥❞ s♦❧✈❡❞ ✇✐t❤ ❇♦❝♦♣✳ ❲❡ r❡❝❛❧❧ t❤❡ ♠❛✐♥ ❢❡❛t✉r❡s ♦❢ t❤❡ ♣r♦❜❧❡♠s ❛♥❞
♦❢ t❤❡✐r s♦❧✉t✐♦♥s✱ ❛♥❞ ❞❡s❝r✐❜❡ t❤❡ ♥✉♠❡r✐❝❛❧ r❡s✉❧ts ♦❜t❛✐♥❡❞✳

❑❡②✲✇♦r❞s✿ ♦♣t✐♠❛❧ ❝♦♥tr♦❧✱ ❞✐r❡❝t ♠❡t❤♦❞✱ ♥♦♥❧✐♥❡❛r ♣r♦❣r❛♠♠✐♥❣✱ ❛✉t♦♠❛t✐❝ ❞✐✛❡r❡♥t✐❛t✐♦♥✱
s✐♥❣✉❧❛r ❛r❝✱ st❛t❡ ❝♦♥str❛✐♥t

∗ ■♥r✐❛ ❙❛❝❧❛② ❛♥❞ ❈♠❛♣ ❊❝♦❧❡ P♦❧②t❡❝❤♥✐q✉❡



❇❖❈❖P ✲ ❯♥ ❝❛t❛❧♦❣✉❡ ❞✬❡①❡♠♣❧❡s

❘és✉♠é ✿ ❈❡ ❞♦❝✉♠❡♥t ♣rés❡♥t❡ ✉♥ ❝❛t❛❧♦❣✉❡ ❞✬❡①❡♠♣❧❡s ❞❡ ♣r♦❜❧è♠❡s ❞❡ ❝♦♥trô❧❡ ♦♣t✐♠❛❧ ❡t
❧❡✉r rés♦❧✉t✐♦♥ ❛✈❡❝ ❇♦❝♦♣✳ ❖♥ r❛♣♣❡❧❧❡ ❧❡s ♣r✐♥❝✐♣❛❧❡s ❝❛r❛❝tér✐st✐q✉❡s ❞❡s ♣r♦❜❧è♠❡s ❛✈❡❝ ❧❡✉r
s♦❧✉t✐♦♥s✱ ❡t ♦♥ ❞é❝r✐t ❧❡s rés✉❧t❛ts ♥✉♠ér✐q✉❡s ♦❜t❡♥✉s✳

▼♦ts✲❝❧és ✿ ❝♦♥trô❧❡ ♦♣t✐♠❛❧✱ ♠ét❤♦❞❡ ❞✐r❡❝t❡✱ ♦♣t✐♠✐s❛t✐♦♥ ♥♦♥ ❧✐♥é❛✐r❡✱ ❞✐✛ér❡♥t✐❛t✐♦♥ ❛✉✲
t♦♠❛t✐q✉❡✱ ❛r❝ s✐♥❣✉❧✐❡r✱ ❝♦♥tr❛✐♥t❡ ❞✬ét❛t



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✸

❈♦♥t❡♥ts

✶ ❖✈❡r✈✐❡✇ ✹

✷ ■♥t❡❣r❛t♦r s②st❡♠s ✻
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✷✳✹ ❙❡❝♦♥❞ ♦r❞❡r s✐♥❣✉❧❛r r❡❣✉❧❛t♦r ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✼
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✸ Pr♦❝❡ss ❝♦♥tr♦❧ ✶✵
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✹ ▼❡❝❤❛♥✐❝❛❧ s②st❡♠s✱ ❛❡r♦s♣❛❝❡ ✶✸
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✹✳✷ ▲❛❣r❛♥❣❡ ❡q✉❛t✐♦♥s ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✹
✹✳✸ ❍♦❧♦♥♦♠✐❝ ❝♦♥str❛✐♥ts ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✺
✹✳✹ ■♥✈❡rt❡❞ ♣❡♥❞✉❧✉♠ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✻
✹✳✺ ●♦❞❞❛r❞ ♣r♦❜❧❡♠ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✼

✺ P❉❊ ❝♦♥tr♦❧ ♦❢ ♣❛r❛❜♦❧✐❝ ❡q✉❛t✐♦♥s ✶✾

✺✳✶ ❈♦♥tr♦❧ ♦❢ t❤❡ ❤❡❛t ❡q✉❛t✐♦♥ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✾

❘❘ ♥➦ ✽✵✺✸



✹ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

✶ ❖✈❡r✈✐❡✇

❚❤❡ ❇♦❝♦♣ ♣r♦❥❡❝t ❛✐♠s t♦ ❞❡✈❡❧♦♣ ❛♥ ♦♣❡♥✲s♦✉r❝❡ t♦♦❧❜♦① ❢♦r s♦❧✈✐♥❣ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ♣r♦❜❧❡♠s✱
✇✐t❤ ❝♦❧❧❛❜♦r❛t✐♦♥s ✐♥✈♦❧✈✐♥❣ ✐♥❞✉str✐❛❧ ❛♥❞ ❛❝❛❞❡♠✐❝ ♣❛rt♥❡rs✳ ❖♣t✐♠❛❧ ❝♦♥tr♦❧ ✭♦♣t✐♠✐③❛t✐♦♥
♦❢ ❞②♥❛♠✐❝❛❧ s②st❡♠s ❣♦✈❡r♥❡❞ ❜② ❞✐✛❡r❡♥t✐❛❧ ❡q✉❛t✐♦♥s✮ ❤❛s ♥✉♠❡r♦✉s ❛♣♣❧✐❝❛t✐♦♥s ✐♥ t❤❡ ✜❡❧❞s
♦❢ tr❛♥s♣♦rt❛t✐♦♥✱ ❡♥❡r❣②✱ ♣r♦❝❡ss ♦♣t✐♠✐③❛t✐♦♥✱ ❛♥❞ ❜✐♦❧♦❣②✳ ❇♦❝♦♣ ✐s ❞❡✈❡❧♦♣❡❞ ✐♥ t❤❡ ❢r❛♠❡✲
✇♦r❦ ♦❢ t❤❡ ■♥r✐❛✲❙❛❝❧❛② ✐♥✐t✐❛t✐✈❡ ❢♦r ❛♥ ♦♣❡♥ s♦✉r❝❡ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ t♦♦❧❜♦① ✭✷✵✶✵✲✷✵✶✷✮✱ ❛♥❞
✐s s✉♣♣♦rt❡❞ ❜② t❤❡ ❈♦♠♠❛♥❞s t❡❛♠✳

P❧❡❛s❡ ✈✐s✐t t❤❡ ✇❡❜s✐t❡ ❢♦r t❤❡ ❧❛t❡st ♥❡✇s ❛♥❞ ✉♣❞❛t❡s✳ ❨♦✉ ❛r❡ ✇❡❧❝♦♠❡ t♦ s✉s❝r✐❜❡ t♦ t❤❡
tr✐♠❡str✐❛❧ ♥❡✇s❧❡tt❡r✱ ❛♥❞ ❥♦✐♥ t❤❡ ❢♦r✉♠ ❛s ✇❡❧❧✳

❚❤❡ ❇♦❝♦♣ t❡❛♠ ❤♦♣❡s ②♦✉ ❤❛✈❡ ❛ ♥✐❝❡ ❡①♣❡r✐❡♥❝❡ ✇✐t❤ t❤❡ s♦❢t✇❛r❡ ✦

❲❡❜s✐t❡✿ ✇✇✇✳❜♦❝♦♣✳♦r❣

❈♦♥t❛❝t✿ P✐❡rr❡ ▼❛rt✐♥♦♥ ✭♣✐❡rr❡✳♠❛rt✐♥♦♥❅✐♥r✐❛✳❢r✮✳

P❧❛t❢♦r♠

❚❤❡ ♥❛t✐✈❡ ♣❧❛t❢♦r♠ ❢♦r ❇♦❝♦♣ ✐s ▲✐♥✉①✱ ❜✉t ❇♦❝♦♣ ❝❛♥ ❛❧s♦ ❜❡ ❝♦♠♣✐❧❡❞ ✉♥❞❡r ▼❛❝❖❙ ❳ ❛♥❞
❲✐♥❞♦✇s✳ ❲❡ ❛r❡ ❝♦♥s✐❞❡r✐♥❣ t❤❡ ♣♦ss✐❜✐❧✐t② ♦❢ ♣r♦✈✐❞✐♥❣ ♣r❡❝♦♠♣✐❧❡❞ ❜✐♥❛r✐❡s ❢♦r t❤❡ t❤✐r❞♣❛rt②
s♦❢t✇❛r❡s✳

■♥t❡r❢❛❝❡

❚❤❡ ❝✉rr❡♥t ●❯■ ❢♦r ❇♦❝♦♣ ✐s ✇r✐tt❡♥ ✐♥ ❙❝✐❧❛❜✱ ❛♥❞ ❛ st❛♥❞❛❧♦♥❡ ●❯■ ✐s ♣❧❛♥♥❡❞ ❢♦r ❢✉t✉r❡
✈❡rs✐♦♥s✳ ❇♦❝♦♣ ❝❛♥ ❜❡ ✉s❡❞ ✐♥ ❝♦♠♠❛♥❞ ❧✐♥❡ ♠♦❞❡✱ ❡s♣❡❝✐❛❧❧② ❢♦r ❡①♣❡r✐❡♥❝❡❞ ✉s❡rs✳ ❍♦✇❡✈❡r✱
✇❡ r❡❝♦♠♠❡♥❞ ✉s✐♥❣ t❤❡ ●❯■✱ ❛t ❧❡❛st ❢♦r t❤❡ ✜rst st❡♣s✳ ❆❧s♦✱ s♦♠❡ ❣r❛♣❤✐❝❛❧ ❢❡❛t✉r❡s s✉❝❤ ❛s
✐♥t❡r♣♦❧❛t✐♦♥ ❢♦r t❤❡ ✐♥✐t✐❛❧ ♣♦✐♥t ❛r❡ ♠✉❝❤ ❡❛s✐❡r t♦ ✉s❡ ✇✐t❤ t❤❡ ●❯■✳

❈♦r❡

❚❤❡ ❝♦r❡ ✜❧❡s ❢♦r ❇♦❝♦♣ ❛r❡ ✇r✐tt❡♥ ✐♥ ❈✰✰ ❛♥❞ r❡❧❡❛s❡❞ ✉♥❞❡r t❤❡ ❊❝❧✐♣s❡ P✉❜❧✐❝ ▲✐❝❡♥s❡✳
❯s❡r s✉♣♣❧✐❡❞ ❢✉♥❝t✐♦♥s ❝❛♥ ❜❡ ✇r✐tt❡♥ ✐♥ ♣❧❛✐♥ ❈✱ ❛♥❞ ❞♦ ♥♦t r❡q✉✐r❡ ❛❞✈❛♥❝❡❞ ♣r♦❣r❛♠♠✐♥❣
s❦✐❧❧s✳ ❲❡ ♣❧❛♥ t♦ ♣r♦✈✐❞❡ ✐♠♣♦rt ❣✉✐❞❡❧✐♥❡s ❢♦r ♠♦❞❡❧s ❛❧r❡❛❞② ✇r✐tt❡♥ ✐♥ ❞✐✛❡r❡♥t ❧❛♥❣✉❛❣❡s✱
s✉❝❤ ❛s ❋♦rtr❛♥✳

❚❤✐r❞♣❛rt②

❇♦❝♦♣ ❝✉rr❡♥t❧② ✉s❡s ■♣♦♣t ✭✇✐t❤ ▼❯▼P❙ ❛s ❧✐♥❡❛r s♦❧✈❡r✮ ❢♦r s♦❧✈✐♥❣ t❤❡ ♥♦♥❧✐♥❡❛r ♣r♦✲
❣r❛♠♠✐♥❣ ♣r♦❜❧❡♠ r❡s✉❧t✐♥❣ ❢r♦♠ t❤❡ ❞✐r❡❝t tr❛♥s❝r✐♣t✐♦♥ ♦❢ t❤❡ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ♣r♦❜❧❡♠✳ ❇♦❝♦♣
r❡❧✐❡s ♦♥ ❆❉❖▲✲❈ ✭✇✐t❤ ❈♦❧P❛❝❦ ❢♦r t❤❡ s♣❛rs✐t②✮ t♦ ❝♦♠♣✉t❡ ❞❡r✐✈❛t✐✈❡s ♦❢ t❤❡ ♦❜❥❡❝t✐✈❡ ❛♥❞
❝♦♥str❛✐♥ts ❜② ❛✉t♦♠❛t✐❝ ❞✐✛❡r❡♥t❛t✐♦♥✳

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✺

■♥ t❤✐s ❞♦❝✉♠❡♥t ✇❡ ♣r❡s❡♥t ❛ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❝❧❛ss✐❝❛❧ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ♣r♦❜❧❡♠s ✇❤✐❝❤ ❤❛✈❡ ❜❡❡♥
✐♠♣❧❡♠❡♥t❡❞ ❛♥❞ s♦❧✈❡❞ ✇✐t❤ ❇♦❝♦♣✳ ❲❡ r❡❝❛❧❧ t❤❡ ♠❛✐♥ ❢❡❛t✉r❡s ♦❢ t❤❡ ♣r♦❜❧❡♠s ❛♥❞ ♦❢ t❤❡✐r
s♦❧✉t✐♦♥s✱ ❛♥❞ ❞❡s❝r✐❜❡ t❤❡ ♥✉♠❡r✐❝❛❧ r❡s✉❧ts ♦❜t❛✐♥❡❞✳ ❖✉r ♥✉♠❡r✐❝❛❧ t❡sts ✉s❡ ❣❡♥❡r❛❧❧② ✶✵✵
t✐♠❡ st❡♣s ♦r s♦✱ ✇✐t❤ ✐♥✐t✐❛❧✐③❛t✐♦♥ ♦❢ t❤❡ ❝♦♥tr♦❧ ❛♥❞ st❛t❡ ✈❛r✐❛❜❧❡s ❜② ❛♣♣r♦♣r✐❛t❡ ❝♦♥st❛♥ts✳
❚❤❡ s♦❧✉t✐♦♥ ✐s ❝♦♠♣✉t❡❞ ✐♥ ❛ ❢❡✇ s❡❝♦♥❞s✳

❯s❡rs ❛r❡ ❡♥❝♦✉r❛❣❡❞ t♦ ❡①♣❡r✐♠❡♥t ✇✐t❤ t❤❡ ❞❛t❛ ✐♥ t❤❡s❡ ♣r♦❜❧❡♠s ✐♥ ♦r❞❡r t♦ ❣❡t ❛❝q✉❛✐♥t❡❞
✇✐t❤ t❤❡ ✉s❡ ♦❢ ❇♦❝♦♣✳ ■t ✐s ✐♥t❡r❡st✐♥❣ t♦ ♦❜s❡r✈❡ ❤♦✇ t❤❡ ❝♦♥✈❡r❣❡♥❝❡ ✐s ❛✛❡❝t❡❞ ❜② ❝❤❛♥❣❡s ✐♥
t❤❡ ✐♥✐t✐❛❧✐s❛t✐♦♥ ♦❢ t❤❡ ❝♦♥tr♦❧ ❛♥❞ st❛t❡✱ t❤❡ ♥✉♠❜❡r ♦❢ t✐♠❡ st❡♣s✱ ♦r t❤❡ ❞✐s❝r❡t✐③❛t✐♦♥ s❝❤❡♠❡✳
❆ ❢✉rt❤❡r st❡♣ ♠✐❣❤t ❜❡ t♦ ♠❛❦❡ ❝❤❛♥❣❡s ✐♥ t❤❡ ❞②♥❛♠✐❝s ♦r ❝♦st ❢✉♥❝t✐♦♥✳

❲❡ ❤♦♣❡ t❤❛t ♣r♦✈✐❞✐♥❣ t❤❡s❡ ❞♦❝✉♠❡♥t❡❞ ❡①❛♠♣❧❡s ✇✐❧❧ ❤❡❧♣ ✉s❡rs t♦ ✇r✐t❡ ❛♥❞ s♦❧✈❡ t❤❡✐r
♦✇♥ ❛♣♣❧✐❝❛t✐♦♥s ✇✐t❤ ❇♦❝♦♣✳ ❚❤❡ ❢♦❧❧♦✇✐♥❣ ♣r♦❜❧❡♠s ❛r❡ s♦rt❡❞ ✐♥ ❢♦✉r ❣❡♥❡r❛❧ ❝❛t❡❣♦r✐❡s✿
✐♥t❡❣r❛t♦r s②st❡♠s✱ ♣r♦❝❡ss ❝♦♥tr♦❧✱ ♠❡❝❤❛♥✐❝❛❧ s②st❡♠s ❛♥❞ ❛❡r♦s♣❛❝❡✱ ❛♥❞ P❉❊ ❝♦♥tr♦❧ ♦❢
♣❛r❛❜♦❧✐❝ ❡q✉❛t✐♦♥s✳

❘❘ ♥➦ ✽✵✺✸



✻ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

✷ ■♥t❡❣r❛t♦r s②st❡♠s

✷✳✶ ●❡♥❡r✐❝ ❢♦r♠

❲❡ ❝♦♥s✐❞❡r ✐♥t❡❣r❛t♦r s②st❡♠s ♦❢ t❤❡ ❢♦r♠

x(k)(t) = u(t), t ∈ [0, T ], ✭✶✮

❢♦r k = 1 t♦ ✸✳ ❚❤❡ st❛t❡ ✈❛r✐❛❜❧❡s ❛r❡ t❤❡r❡❢♦r❡ y1 = x✱ ❛♥❞ ❢♦r k > 1✱ y2 = ẋ✱✳ ✳ ✳ ✱yk = x(k−1)✳

❚❤❡ ❝♦st ❢✉♥❝t✐♦♥ ✐s
∫ T

0
ℓ(t, u(t), y(t))dt✱ ✇✐t❤

ℓ(t, u(t), y(t)) := αx(t) + β1x
2(t) + β2ẋ

2(t) + γu(t) + δu2(t). ✭✷✮

❙❡tt✐♥❣ t❤❡ ❝♦♥st❛♥ts α, . . . , δ ❛❧❧♦✇s ❢♦r ❛ ✇✐❞❡ ✈❛r✐❡t② ♦❢ ❝♦st ❢✉♥❝t✐♦♥s ✭♥♦t❡ t❤❛t ♦❢ ❝♦✉rs❡
β2 = 0 ✇❤❡♥ k = 1✮✳ ❲❡ ❛❞❞ t❤❡ ❝♦♥tr♦❧ ❛♥❞ st❛t❡ ❝♦♥str❛✐♥ts ❢♦r ❛❧❧ t

u(t) ∈ [−1, 1]; y(t) ≥ a. ✭✸✮

✷✳✷ ❋✐rst✲♦r❞❡r s②st❡♠

❲❤✐❧❡ t❤❡s❡ ❡①❛♠♣❧❡s ❛r❡ ✈❡r② s✐♠♣❧❡✱ t❤❡② ♥❡✈❡rt❤❡❧❡ss s❤♦✇ s♦♠❡ t②♣✐❝❛❧ ❜❡❤❛✈✐♦r t❤❛t ✇✐❧❧ ❜❡
❡①t❡♥❞❡❞ ❧❛t❡r t♦ ❤✐❣❤❡r ♦r❞❡r s②st❡♠s✳ ❈♦♥s✐❞❡r ✜rst t❤❡ ♣r♦❜❧❡♠







Min

∫ T

0

x2(t) + γu(t) + δu2(t) dt

ẋ(t) = u(t), t ∈ [0, T ], x(0) = x0.
✭✹✮

■❢ (γ, δ) = (1, 0)✱ x(0) = 1✱ ❛♥❞ T > 1✱ t❤❡♥ t❤❡ s♦❧✉t✐♦♥ ✐s u(t) = −1 ❢♦r t ∈ [0, 1]✱ ❛♥❞ u(t) = 0
❢♦r t > 1✳ ■♥ ♣❛rt✐❝✉❧❛r✱ t❤❡ ❝♦♥tr♦❧ ✐s ❞✐s❝♦♥t✐♥✉♦✉s ❜✉t ♣✐❡❝❡✇✐s❡ ❝♦♥t✐♥✉♦✉s✳ ■❢ ✇❡ ❝❤❛♥❣❡ δ t♦
❛ s♠❛❧❧ ♣♦s✐t✐✈❡ ✈❛❧✉❡✱ s❛② ✵✳✶✱ ✇❡ s❡❡ t❤❛t t❤❡ ❝♦♥tr♦❧ ✐s ❝♦♥t✐♥✉♦✉s✱ ❛❧t❤♦✉❣❤t ✐t ✈❛r✐❡s s❤❛r♣❧②
✇❤❡♥ t❤❡ t✐♠❡ ❝♦♠❡s ❝❧♦s❡ t♦ ✶✳

❚❤❡ ✉s❡r ♠❛② ❡①♣❡r✐♠❡♥t ✇❤❛t ❤❛♣♣❡♥s ✇❤❡♥ t❤❡ st❛t❡ ❝♦♥str❛✐♥t t❤r❡s❤♦❧❞ a ✐s ♣♦s✐t✐✈❡✿
❛❣❛✐♥ t❤❡ ❝♦♥tr♦❧ ✐s ❞✐s❝♦♥t✐♥✉♦✉s ✇❤❡♥ δ = 0✱ ❛♥❞ ❝♦♥t✐♥✉♦✉s ✇❤❡♥ δ > 0✳

❲❡ ♥❡①t ❞✐s❝✉ss t❤❡ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ♦❢ t✇♦ s❡❝♦♥❞ ♦r❞❡r ✐♥t❡❣r❛t♦r s②st❡♠s✳

✷✳✸ ❋✉❧❧❡r ♣r♦❜❧❡♠

❍❡r❡ ✐s ❛ ✈❡r② ❝❧❛ss✐❝❛❧ ❡①❛♠♣❧❡ ♦❢ ❛ ❝❤❛tt❡r✐♥❣ ♣❤❡♥♦♠❡♥♦♥ ❬✻❪✿

Min

∫ T

0

x2(t)dt; ẍ(t) = u(t) ∈ [−1, 1]. ✭✺✮

❚❤❡ s♦❧✉t✐♦♥ ✐s✱ ❢♦r ❧❛r❣❡ ❡♥♦✉❣❤ T ✱ ❜❛♥❣✲❜❛♥❣ ✭✐✳❡✳✱ ✇✐t❤ ✈❛❧✉❡s ❛❧t❡r♥❛t✐✈❡♠❡♥t ±1✮✱ t❤❡ s✇✐t❝❤✲
✐♥❣ t✐♠❡s ❣❡♦♠❡tr✐❝❛❧❧② ❝♦♥✈❡r❣✐♥❣ t♦ ❛ ✈❛❧✉❡ τ > 0✱ ❛♥❞ t❤❡♥ t❤❡ ✭tr✐✈✐❛❧✮ s✐♥❣✉❧❛r ❛r❝ x = 0
❛♥❞ u = 0✳ ❚❤❡s❡ s✇✐t❝❤❡s ❛r❡ ♥♦t ❡❛s② t♦ r❡♣r♦❞✉❝❡ ♥✉♠❡r✐❝❛❧❧②✳ ❲❡ ❞✐s♣❧❛② ✐♥ ✜❣✉r❡ ✶ t❤❡
❝♦♥tr♦❧✱ ✇✐t❤ ❛ ③♦♦♠ ♦♥ t❤❡ ❡♥tr② ♣♦✐♥t ♦❢ t❤❡ s✐♥❣✉❧❛r ❛r❝✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ❢✉❧❧❡r
❉✐s❝r❡t✐③❛t✐♦♥✿ ●❛✉ss ■■ ✇✐t❤ ✶✵✵✵ st❡♣s✳
❲❡ t❛❦❡ ❤❡r❡ T = 3.5✱ x(0) = 0, ẋ(0) = 1✱ x(T ) = ẋ(T ) = 0 ❛♥❞ u(t) ∈ [−10−2, 10−2]✳

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✼

❋✐❣✉r❡ ✶✿ ❋✉❧❧❡r ♣r♦❜❧❡♠✿ ❝❤❛tt❡r✐♥❣ ❝♦♥tr♦❧ ✭✇✐t❤ ③♦♦♠✮❀ x ❛♥❞ v✳

✷✳✹ ❙❡❝♦♥❞ ♦r❞❡r s✐♥❣✉❧❛r r❡❣✉❧❛t♦r

❲❡ ❝♦♥s✐❞❡r ❛ s❡❝♦♥❞ ♦r❞❡r s✐♥❣✉❧❛r r❡❣✉❧❛t♦r ♣r♦❜❧❡♠✱ s❡❡ ❆❧② ❬✶❪✱ ♦r ❬✷❪✿

Min

∫ T

0

x2(t) + ẋ2(t) dt; ẍ(t) = u(t) ∈ [−1, 1]. ✭✻✮

❚❤❡ ❞✐✛❡r❡♥❝❡ ✇✐t❤ ❋✉❧❧❡r✬s ♣r♦❜❧❡♠ ✐s t❤❛t t❤❡ ❝♦st ❢✉♥❝t✐♦♥ ✐♥❝❧✉❞❡s ❛ ♣❡♥❛❧✐③❛t✐♦♥ ♦❢ t❤❡
✏s♣❡❡❞✑ ẋ(t)✳ ❲❡ ♦❜s❡r✈❡ ✐♥ ✜❣✉r❡ ✷ t❤❡ ♦❝❝✉r❡♥❝❡ ♦❢ ❛ s✐♥❣✉❧❛r ❛r❝✱ t❤❡ ♦♣t✐♠❛❧ ❝♦♥tr♦❧ ❜❡✐♥❣ ♦❢
t❤❡ ❢♦r♠ ❜❛♥❣ ✭✲✶✮ ✲ s✐♥❣✉❧❛r✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ r❡❣✉❧❛t♦r
❉✐s❝r❡t✐③❛t✐♦♥✿ ❘✉♥❣❡✲❑✉tt❛ ✹ ✇✐t❤ ✶✵✵✵ st❡♣s✳ ❲❡ t❛❦❡ ❤❡r❡ T = 5✱ x(0) = 0, ẋ(0) = 1✳

✷✳✺ ❚❤✐r❞ ♦r❞❡r st❛t❡ ❝♦♥str❛✐♥ts

❘♦❜❜✐♥s ❬✶✹❪ ❝♦♥s✐❞❡r❡❞ t❤❡ ❢♦❧❧♦✇✐♥❣ ❢❛♠✐❧② ♦❢ ♣r♦❜❧❡♠s✿

Min
1

2

∫ T

0

αy(t) +
1

2
u(t)2 dt; y(3)(t) = u(t); y(t) ≥ 0.

■t ❤❛s ❜❡❡♥ ♣r♦✈❡❞ ❜② ❘♦❜❜✐♥s ❬✶✹❪ t❤❛t✱ ❢♦r ❛♣♣r♦♣r✐❛t❡ ✐♥✐t✐❛❧ ❝♦♥❞✐t✐♦♥s✱ t❤❡ ❡①❛❝t s♦❧✉t✐♦♥
❤❛s ✐♥✜♥✐t❡❧② ♠❛♥② ✐s♦❧❛t❡❞ ❝♦♥t❛❝t ♣♦✐♥ts✱ s✉❝❤ t❤❛t t❤❡ ❧❡♥❣t❤ ♦❢ ✉♥❝♦♥str❛✐♥❡❞ ❛r❝s ❞❡❝r❡❛s❡s
❣❡♦♠❡tr✐❝❛❧❧②✳ ❉❡t❛✐❧❡❞ ❝♦♠♣✉t❛t✐♦♥s ❝❛♥ ❜❡ ❢♦✉♥❞ ✐♥ ❬✽❪✳ ❚❤❡r❡❢♦r❡ t❤❡ ✐s♦❧❛t❡❞ ❝♦♥t❛❝t ♣♦✐♥ts
❤❛✈❡ ❛♥ ❛❝❝✉♠✉❧❛t✐♦♥ ♣♦✐♥t❀ t❤❡ ❧❛tt❡r ✐s ❢♦❧❧♦✇❡❞ ❜② t❤❡ tr✐✈✐❛❧ s✐♥❣✉❧❛r ❛r❝ u = 0✱ y = 0✳ ■t
✐s ♥♦t ❡❛s② t♦ r❡♣r♦❞✉❝❡ ♥✉♠❡r✐❝❛❧❧② t❤✐s ❜❡❤❛✈✐♦r✱ s✐♥❝❡ t❤❡ ✉♥❝♦♥str❛✐♥❡❞ ❛r❝s r❛♣✐❞❧② ❜❡❝♦♠❡

❘❘ ♥➦ ✽✵✺✸



✽ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

❋✐❣✉r❡ ✷✿ r❡❣✉❧❛t♦r ♣r♦❜❧❡♠✿ ❝♦♥tr♦❧✳

t♦♦ s♠❛❧❧ t♦ ❜❡ ❝❛♣t✉r❡❞ ❜② ❛ ❣✐✈❡♥ t✐♠❡ ❞✐s❝r❡t✐③❛t✐♦♥✳ ❲❡ ❞✐s♣❧❛② ✐♥ ❋✐❣✉r❡ ✸ t❤❡ ✈❛❧✉❡ ♦❢ t❤❡
✜rst st❛t❡ ❝♦♠♣♦♥❡♥t ❛♥❞ ♦❢ t❤❡ ❝♦♥tr♦❧✱ ❝♦♠♣✉t❡❞ ✇✐t❤ ❇♦❝♦♣✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ st❛t❡❴❝♦♥str❛✐♥t❴✸
❉✐s❝r❡t✐③❛t✐♦♥✿ ❘✉♥❣❡✲❑✉tt❛ ✹ ✇✐t❤ ✶✵✵ st❡♣s✳
❲❡ t❛❦❡ ❤❡r❡ α = 3✱ T = 10✱ y(0) = (1,−2, 0)✳

❋✐❣✉r❡ ✸✿ ❘♦❜❜✐♥s ❡①❛♠♣❧❡✿ ✜rst ♦r❞❡r st❛t❡ ❝♦♥str❛✐♥t ❛♥❞ ❝♦♥tr♦❧✳

■t s❡❡♠s t❤❛t ♥♦ ✏❣❡♥❡r✐❝✑ ✭st❛❜❧❡ ✇✐t❤ r❡s♣❡❝t t♦ ❛ ♣❡rt✉r❜❛t✐♦♥✮ ❡①❛♠♣❧❡ ♦❢ ❛ t❤✐r❞ ♦r❞❡r
st❛t❡ ❝♦♥str❛✐♥t ✇✐t❤ ❛ r❡❣✉❧❛r ❡♥tr②✴❡①✐t ♣♦✐♥t ❢♦r ❛ s✐♥❣✉❧❛r ❛r❝ ✐s ❦♥♦✇♥✳ ■t ✐s ❝♦♥❥❡❝t✉r❡❞
t❤❛t ♥♦ s✉❝❤ ♣♦✐♥t ❡①✐sts✳

❏❛❝♦❜s♦♥ ❡t ❛❧✳ ❬✶✶❪ ❝♦♥s✐❞❡r❡❞ t❤❡ ❢♦❧❧♦✇✐♥❣ ❡①❛♠♣❧❡✿

Min
1

2

∫ T

0

u(t)2 dt; y(3)(t) = u(t); y(t) ≤ ymax.

✇✐t❤ ✐♥✐t✐❛❧ ❝♦♥❞✐t✐♦♥ ❢♦r ✇❤✐❝❤ t❤❡r❡ ✐s ♥♦ ❜♦✉♥❞❛r② ❛r❝✱ ❛♥❞ ♦♥❡ ♦r t✇♦ t♦✉❝❤ ♣♦✐♥ts✳
❋♦✉rt❤ ♦r❞❡r st❛t❡ ❝♦♥str❛✐♥ts

◆♦ ❡①❛♠♣❧❡ ✇✐t❤ ❛ ♥♦♥tr✐✈✐❛❧ ❜♦✉♥❞❛r② ❛r❝ ✐s ❦♥♦✇♥✱ ❛♥❞ ✐t ✐s ❝♦♥❥❡❝t✉r❡❞ t❤❛t t❤✐s ❞♦❡s ♥♦t

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✾

♦❝❝✉r✳ ▲❡t ✉s ♠❡♥t✐♦♥ t❤❡ ❡①❛♠♣❧❡ st✉❞✐❡❞ ❜② ❏❛❝♦❜s♦♥ ❡t ❛❧✳ ❬✶✶❪✿

Min
1

2

∫ T

0

u(t)2 dt; y(4)(t) = u(t); |y(t)| ≤ ymax.

❘❘ ♥➦ ✽✵✺✸



✶✵ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

✸ Pr♦❝❡ss ❝♦♥tr♦❧

✸✳✶ ❏❛❝❦s♦♥ ♣r♦❜❧❡♠

❈♦♥s✐❞❡r t❤❡ ♠♦❞❡❧ ✐♥ ❬✶✵❪✱ ❛❧s♦ ❞✐s❝✉ss❡❞ ✐♥ ❇✐❡❣❧❡r ❬✹❪✱ ♦❢ r❡❛❝t✐♦♥s A ⇔ B ⇒ C✳ ❍❡r❡ t❤❡
❝♦♥tr♦❧ u(t) ∈ [0, 1] ✐s t❤❡ ❢r❛❝t✐♦♥ ♦❢ ❝❛t❛❧②st✱ ❛♥❞ ✇❡ ✇❛♥t t♦ ♠❛①✐♠✐③❡ t❤❡ ♣r♦❞✉❝t✐♦♥ ♦❢ C✳
❚❤❡ ♣r♦❜❧❡♠ ✐s ✇r✐tt❡♥ ❛s

Max c(T )
ȧ(t) = u(t) (k1a(t) − k2b(t))

ḃ(t) = u(t) (k1a(t) − k2b(t)) − (1 − u(t))k3b(t)
ċ(t) = u(t)(1 − u(t))k3b(t)
u(t) ∈ [0, 1]

✭✼✮

◆♦t❡ t❤❛t✱ a(t) + b(t) + c(t) ❜❡✐♥❣ ❛♥ ✐♥✈❛r✐❛♥t✱ ✇❡ ❝♦✉❧❞ ❡❧✐♠✐♥❛t❡ t❤❡ t❤✐r❞ st❛t❡ ✈❛r✐❛❜❧❡✳
❍♦✇❡✈❡r✱ ✇❡ ❞❡❝✐❞❡❞ t♦ ❦❡❡♣ ✐t ✐♥ ♦✉r ✐♠♣❧❡♠❡♥t❛t✐♦♥✳ ❲❡ ❞✐s♣❧❛② ♦♥ ✜❣✉r❡ ✹ t❤❡ s❡❝♦♥❞ st❛t❡
✈❛r✐❛❜❧❡ ❛♥❞ ❝♦♥tr♦❧✳ ❲❡ ♦❜s❡r✈❡ t❤❛t✱ ❛s ❡①♣❡❝t❡❞✱ t❤❡ ❝♦♥tr♦❧ ❤❛s ❛ s✐♥❣✉❧❛r ❛r❝✱ ✇✐t❤ ❛ ❜❛♥❣
✭✶✮ ✲ s✐♥❣✉❧❛r ✲ ❜❛♥❣✭✵✮ str✉❝t✉r❡✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ❥❛❝❦s♦♥
❉✐s❝r❡t✐③❛t✐♦♥✿ ●❛✉ss ■■ ✇✐t❤ ✸✵✵ st❡♣s✳
❲❡ t❛❦❡ ❤❡r❡ k1 = k3 = k4 = 1, k2 = 10✱ T = 4✱ a(0) = 1, b(0) = c(0) = 0✳

❋✐❣✉r❡ ✹✿ ❏❛❝❦s♦♥ ♣r♦❜❧❡♠✿ ❝♦♥❝❡♥tr❛t✐♦♥ ♦❢ ✏B✑ ❛♥❞ ❝♦♥tr♦❧✳

✸✳✷ ▼❡t❤❛♥❡ ♣r♦❞✉❝t✐♦♥

❲❡ st✉❞② ❤❡r❡ ❛ ❜✐♦✲r❡❛❝t♦r ♣r♦❜❧❡♠ ✐♥✈♦❧✈✐♥❣ ♠❡t❤❛♥❡ ♣r♦❞✉❝t✐♦♥ ✇✐t❤ ♠✐❝r♦✲❛❧❣❛❡✳ ❚❤❡ ♦❜✲
❥❡❝t✐✈❡ ✐s t♦ ♠❛①✐♠✐③❡ t❤❡ ♠❡t❤❛♥❡ ♣r♦❞✉❝t✐♦♥ ❜② t❤❡ ❜✐♦♠❛ss✳ ❚❤❡ ❞②♥❛♠✐❝s ♦❢ t❤❡ ❜✐♦♠❛ss x✱
s✉❜str❛t❡ s ❛♥❞ ♠✐❝r♦✲❛❧❣❛❡ y ❛r❡ ❛s ❢♦❧❧♦✇s✿

Max
∫ T

0
x(t)u(t) dt

ẏ(t) = µ(t)y
1+y

− ry − uy

ṡ(t) = uβ(γy − s) − µ2(s)x
ẋ(t) = (µ2(s) − uβ)x
u(t) ∈ [0, 1]

✭✽✮

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✶✶

❚❤❡ ❣r♦✇t❤ r❛t❡ ♦❢ t❤❡ ❛❧❣❛❡ ❞❡♣❡♥❞s ♦♥ t❤❡ ❞❛②✴♥✐❣❤t ❝②❝❧❡ ❛♥❞ ✐s ♦❢ t❤❡ ❢♦r♠

µ(t) =

{

µ̄ 0 ≤ t < T/2
0 T/2 ≤ t < T

✭✾✮

❚❤❡ ♠❡t❛❜♦❧✐❝ ❛❝t✐✈✐t② ♦❢ t❤❡ ❜✐♦♠❛ss ✐s

µ2(s) = µm
2

s

Ks + s
✭✶✵✮

❲❡ ❤❛✈❡ ❛ ♣❡r✐♦❞✐❝✐t② ❝♦♥str❛✐♥t✱ ✇✐t❤ t❤❡ ✈❛❧✉❡ ❢♦r t❤❡ ✐♥✐t✐❛❧✴✜♥❛❧ ❜❡✐♥❣ ❢r❡❡

y(T ) = y(0), s(T ) = s(0), x(T ) = x(0). ✭✶✶✮

❲❡ ❞✐s♣❧❛② t❤❡ st❛t❡s ❛♥❞ ❝♦♥tr♦❧ ❜❡❧♦✇✱ ❛♥❞ ♦❜s❡r✈❡ t❤❛t t❤❡ ♣❡r✐♦❞✐❝✐t② ❝♦♥str❛✐♥ts ❛r❡
s❛t✐s✜❡❞✳ ❚❤❡ ❝♦♥tr♦❧ s❡❡♠s t♦ ♣r❡s❡♥t ❛ ❜❛♥❣ ✭✵✮ ✲ s✐♥❣✉❧❛r ✲ ❜❛♥❣ ✭✵✮ str✉❝t✉r❡✳ ❚❤❡ s♣✐❦❡s ❛t
t❤❡ ❞❛②✴♥✐❣❤t s✇✐t❝❤ ♠❛② ❜❡ ♥✉♠❡r✐❝❛❧ ❛rt✐❢❛❝ts✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ♠❡t❤❛♥❡
❉✐s❝r❡t✐③❛t✐♦♥✿ ●❛✉ss ■■ ✇✐t❤ ✺✵✵ st❡♣s✳
❲❡ t❛❦❡ ❤❡r❡ µ̄ = 0.5, r = 0.005, T = 10, µm

2 = 0.1, Ks = 5, β = 1, γ = 100✳
❲❡ ❛❧s♦ ❛❞❞ t❤❡ ❝♦♥str❛✐♥t x(·) ≥ 50✳

▼❡t❤❛♥❡ ♣r♦❜❧❡♠✿ st❛t❡s ②✱ s✱ ① ❛♥❞ ❝♦♥tr♦❧✳

❘❘ ♥➦ ✽✵✺✸



✶✷ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

❈♦♠♣❛r✐s♦♥ ♦❢ ❞✐s❝r❡t✐③❛t✐♦♥ ♠❡t❤♦❞s

❲❡ s❡t ❤❡r❡ ❛ ✜♥❛❧ t✐♠❡ T = 50 ❝♦rr❡s♣♦♥❞✐♥❣ t♦ ✜✈❡ ❞❛②✴♥✐❣❤t ❝②❝❧❡s✳ ■t ✐s ✇♦rt❤ ♥♦t✐♥❣ t❤❛t
✇❡ ♦❜t❛✐♥ ❛ ♣❡r✐♦❞✐❝ s♦❧✉t✐♦♥ ♦❢ ♣❡r✐♦❞ ✶✵ ✭♦♥❡ ❝②❝❧❡✮ ✇❤✐❧❡ t❤❡ ❝♦♥str❛✐♥t ♦♥❧② ❛♣♣❡❛rs ❛t 0 ❛♥❞
T ✳ ▲❡t ✉s ❝♦♠♣❛r❡ s❡✈❡r❛❧ ♠❡t❤♦❞s ❢♦r ✶✵✵ ❛♥❞ ✷✵✵ ❞✐s❝r❡t✐③❛t✐♦♥ st❡♣s✳

▼❡t❤❛♥❡ ♣r♦❜❧❡♠ ✭✷✵✵ st❡♣s✮✿ ❘❑✹✱ ●❛✉ss ■■✱ ❘❛❞❛✉ ■■ ❆✱ ▲♦❜❛tt♦ ■■■ ❈

❲❡ ♥♦t✐❝❡ ♦s❝✐❧❧❛t✐♦♥s ✐♥ s❡✈❡r❛❧ ♠❡t❤♦❞s✳ ❆ ✇❛② t♦ ✜① t❤✐s ❜❡❤❛✈✐♦✉r ✐s t♦ ❢♦r❝❡ ❛ ♣❛r❛♠❡tr✐③❡❞
❝♦♥tr♦❧✱ ❢♦r ✐♥st❛♥❝❡ ❝♦♥t✐♥✉♦✉s ♣✐❡❝❡✇✐s❡ ❧✐♥❡❛r✳ ❲❡ s❡t ✶✵ ❝♦♥tr♦❧ ✐♥t❡r✈❛❧s ♣❡r ❝②❝❧❡ ✭✺✵ ✐♥ t♦✲
t❛❧✮✱ ❛♥❞ ❦❡❡♣ t❤❡ ✷✵✵ st❡♣s✳

❈♦♥t✐♥✉♦✉s ♣✐❡❝❡✇✐s❡ ❧✐♥❡❛r ❝♦♥tr♦❧✿ ❘❑✹✱ ●❛✉ss ■■✱ ❘❛❞❛✉ ■■ ❆✱ ▲♦❜❛tt♦ ■■■ ❈

◆♦✇ ✇❡ ♦❜t❛✐♥ s✐♠✐❧❛r s♦❧✉t✐♦♥s r❡❣❛r❞❧❡ss ♦❢ t❤❡ ♠❡t❤♦❞✳ ❲✐t❤ t❤✐s ❢♦r♠✉❧❛t✐♦♥✱ ❡✈❡♥ ❧♦✇
♦r❞❡r ♠❡t❤♦❞s ✭❊✉❧❡r✱ ▼✐❞♣♦✐♥t✮ ❣✐✈❡ ❛ ❝❧♦s❡ s♦❧✉t✐♦♥✳

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✶✸

✹ ▼❡❝❤❛♥✐❝❛❧ s②st❡♠s✱ ❛❡r♦s♣❛❝❡

✹✳✶ ❈❧❛♠♣❡❞ ❜❡❛♠

❚❤❡ ❝❧❛ss✐❝❛❧ ❡①❛♠♣❧❡ ♦❢ s❡❝♦♥❞✲♦r❞❡r st❛t❡ ❝♦♥str❛✐♥t ✐s t❤❡ ♦♥❡ ♦❢ t❤❡ ❊✉❧❡r✲❇❡r♥♦✉❧❧✐ ❜❡❛♠✱
s❡❡ ❇r②s♦♥ ❡t ❛❧✳ ❬✺❪

Min 1
2

∫ 1

0
u(t)2dt

ẍ(t) = u(t); x(t) ≤ a
x(0) = x(1) = 0; ẋ(0) = −ẋ(1) = 1.

❚❤❡ ❡①❛❝t s♦❧✉t✐♦♥✱ ❢♦r ✈❛r✐♦✉s ✈❛❧✉❡s ♦❢ a✱ ✐s ❞✐s♣❧❛②❡❞ ✐♥ ✜❣✉r❡ ✺✳

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

0

0.04

0.08

0.12

0.16

0.20

0.24

0.28

❋✐❣✉r❡ ✺✿ ❙❤❛♣❡ ♦❢ ❛ ❜❡❛♠✿ t❤❡ t❤r❡❡ ❝❛s❡s ❛♥❞ t❤❡ ❧♦❝✉s ♦❢ ❥✉♥❝t✐♦♥ ♣♦✐♥ts

❚❤❡ q✉❛❧✐t❛t✐✈❡ ❜❡❤❛✈✐♦r ✐s ❛s ❢♦❧❧♦✇s✿
■❢ a ≥ 1/4✱ t❤❡ ❝♦♥str❛✐♥t ✐s ♥♦t ❛❝t✐✈❡ ❛♥❞ t❤❡ s♦❧✉t✐♦♥ ✐s x(t) = t(1 − t)✳
■❢ a ∈ [1/6, 1/4]✱ t❤❡r❡ ✐s ❛ t♦✉❝❤ ♣♦✐♥t ❛t t = 1/2✳
■❢ a < 1/6✱ t❤❡r❡ ✐s ❛ ❜♦✉♥❞❛r② ❛r❝ ✇✐t❤♦✉t str✐❝t ❝♦♠♣❧❡♠❡♥t❛r✐t②✿ t❤❡ ♠❡❛s✉r❡ ❤❛s ✐ts s✉♣♣♦rt
❛t ❡♥❞ ♣♦✐♥ts✳ ❚❤❡ ❧♦❝✉s ♦❢ s✇✐t❝❤✐♥❣ ♣♦✐♥ts ✐s ♣✐❡❝❡✇✐s❡ ❛✣♥❡✳

❖✉r ♥✉♠❡r✐❝❛❧ r❡s✉❧ts ❛r❡ ✐♥ ❛❝❝♦r❞❛♥❝❡ ✇✐t❤ t❤❡ t❤❡♦r②✿ ✇❡ ❞✐s♣❧❛② ✐♥ ✜❣✉r❡ ✻ t❤❡ ❞✐s♣❧❛❝❡✲
♠❡♥t ❛♥❞ ❝♦♥tr♦❧ ✇❤❡♥ a = 0.1✱ ✐✳❡✳✱ ✇❤❡♥ ❛ ❜♦✉♥❞❛r② ❛r❝ ♦❝❝✉rs✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ❝❧❛♠♣❡❞❴❜❡❛♠
❉✐s❝r❡t✐③❛t✐♦♥✿ ●❛✉ss ■■ ✇✐t❤ ✶✵✵ st❡♣s✳

❘❘ ♥➦ ✽✵✺✸



✶✹ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

❋✐❣✉r❡ ✻✿ ❈❧❛♠♣❡❞ ❜❡❛♠✿ a = 0.1✳ ❇♦✉♥❞❛r② ❛r❝ ❛♥❞ ❝♦♥tr♦❧✳

✹✳✷ ▲❛❣r❛♥❣❡ ❡q✉❛t✐♦♥s

❲❡ ❜r✐❡✢② r❡❝❛❧❧ t❤❡ ❞❡r✐✈❛t✐♦♥ ♦❢ r❛t✐♦♥❛❧ ♠❡❝❤❛♥✐❝s ❜② t❤❡ ▲❛❣r❛♥❣❡ ❛♣♣r♦❛❝❤ ❬✶✷❪✳ ●✐✈❡♥
❣❡♥❡r❛❧✐③❡❞ ❝♦♦r❞✐♥❛t❡s q ∈ R

N ✱ ✇❡ ♥♦t❡ E(q, q̇) ❛♥❞ U(q) t❤❡ ❡①♣r❡ss✐♦♥ ♦❢ ❝✐♥❡t✐❝ ❛♥❞ ♣♦t❡♥t✐❛❧
❡♥❡r❣②✳ ❚❤❡ ❛ss♦❝✐❛t❡❞ ▲❛❣r❛♥❣✐❛♥ ❢✉♥❝t✐♦♥ ❛♥❞ ❛❝t✐♦♥ ❢✉♥❝t✐♦♥❛❧ ❛r❡

L(q, q̇) := E(q, q̇) − U(q); A(q, q̇) :=

∫ T

0

L(q(t), q̇(t))dt, ✭✶✷✮

✇❤❡r❡ ❜② (q, q̇) ✇❡ ❤❛✈❡ ❞❡♥♦t❡❞ ❣❡♥❡r❛❧✐③❡❞ ❝♦♦r❞✐♥❛t❡s ❛s ❢✉♥❝t✐♦♥ ♦❢ t✐♠❡✱ ❛♥❞ t❤❡✐r ❞❡r✐✈❛t✐✈❡s✳
❚❤❡ ▲❛❣r❛♥❣❡ ❡q✉❛t✐♦♥s ❛r❡ t❤❡ ❊✉❧❡r ▲❛❣r❛♥❣❡ ❡q✉❛t✐♦♥s ♦❢ t❤❡ ❝❧❛ss✐❝❛❧ ❝❛❧❝✉❧✉s ♦❢ ✈❛r✐❛t✐♦♥s✱
♥❛♠❡❧②

0 =
d

dt

∂L

∂q̇
−

∂L

∂q
=

d

dt

(

∂E(q, q̇)

∂q̇

)

−
∂E(q, q̇)

∂q
+ U ′(q). ✭✶✸✮

❍❡r❡ ❜② U ′(q) ✇❡ ❞❡♥♦t❡ t❤❡ ❞❡r✐✈❛t✐✈❡ ♦❢ t❤❡ ♣♦t❡♥t✐❛❧ ❢✉♥❝t✐♦♥ ✭♦♣♣♦s✐t❡ ♦❢ t❤❡ ❢♦r❝❡ ❞❡r✐✈✐♥❣
❢r♦♠ t❤❡ ♣♦t❡♥t✐❛❧✮✳ ❚❤❡ ❛❜♦✈❡ r❡❧❛t✐♦♥ ♠✉st ❜❡ ✉♥❞❡rst♦♦❞ ❛s

d

dt

(

∂E(q, q̇)

∂q̇i

)

=
∂E(q, q̇)

∂qi

−
∂U(q)

∂qi

, i = 1, . . . , N. ✭✶✹✮

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✶✺

❚❤❡ ❝✐♥❡t✐❝ ❡♥❡r❣② ✐s ✉s✉❛❧❧② ♦❢ t❤❡ ❢♦r♠

E(q, q̇) =
1

2
q̇⊤M(q)q̇, ✭✶✺✮

✇❤❡r❡ t❤❡ N × N ♠❛ss ♠❛tr✐① M(q) ✐s s②♠♠❡tr✐❝✱ ♣♦s✐t✐✈❡ ❞❡✜♥✐t❡✳

❙✐♥❝❡ ∂E(q,q̇)
∂q̇i

= M(q)q̇i✱ t❤❡ ❡①♣r❡ss✐♦♥ ♦❢ t❤❡ ▲❛❣r❛♥❣✐❛♥ ❡q✉❛t✐♦♥s ✐s t❤❡♥

d

dt
(M(q)q̇)i =

1

2
(q̇)⊤

∂M(q)

∂qi

q̇ −
∂U(q)

∂qi

, i = 1, . . . , N. ✭✶✻✮

❋♦r t❤❡ s✐♠♣❧❡st s♣r✐♥❣ ♠♦❞❡❧✱ ✇❡ ❤❛✈❡ E(q, q̇) = 1
2mq̇2 ❛♥❞ U(q) = 1

2kq2✱ ✇❤❡r❡ m ❛♥❞
k ❛r❡ t❤❡ ♠❛ss ❛♥❞ s♣r✐♥❣ st✐✛♥❡ss✳ ❚❤❡ ▲❛❣r❛♥❣✐❛♥ ❡q✉❛t✐♦♥s r❡❞✉❝❡ t♦ mq̈(t) = −kq(t)✱ ❛s
❡①♣❡❝t❡❞✳

✹✳✸ ❍♦❧♦♥♦♠✐❝ ❝♦♥str❛✐♥ts

❆ ✭✈❡❝t♦r✮ ❤♦❧♦♥♦♠✐❝ ❝♦♥str❛✐♥t G(q) = 0✱ ✇✐t❤ G : R
N → R

M ✱ ❣❡♥❡r❛t❡s ✭❣❡♥❡r❛❧✐③❡❞✮ ❢♦r❝❡s
♦❢ t❤❡ t②♣❡ DG(q)⊤λ✱ ✐✳❡✳✱ ♦rt❤♦❣♦♥❛❧ t♦ KerDG(q)✳ ❚❤❡ s✐♠♣❧❡st ✇❛② t♦ ❡①♣r❡ss t❤❡ r❡s✉❧t✐♥❣
❡q✉❛t✐♦♥s ✐s t♦ ❛♣♣❧② t❤❡ ❊✉❧❡r✲▲❛❣r❛♥❣❡ ❡q✉❛t✐♦♥ t♦ t❤❡ ✏❛✉❣♠❡♥t❡❞✑ ▲❛❣r❛♥❣✐❛♥ L[λ](q, q̇) :=
L(q, q̇) + λ · G(q)✳ ❚❤❡ r❡s✉❧t✐♥❣ ❡q✉❛t✐♦♥s ❛r❡✱ ✇✐t❤ t❤❡ ❛❜♦✈❡ ♥♦t❛t✐♦♥s

d

dt
(M(q)q̇)i =

1

2
(q̇)⊤

∂M(q)

∂qi

q̇ + λ ·
∂G(q)

∂qi

−
∂U(q)

∂qi

, i = 1, . . . , N ✭✶✼✮

G(q) = 0. ✭✶✽✮

❚❤✐s ✐s ❛♥ ❡①❛♠♣❧❡ ♦❢ ❛♥ ❛❧❣❡❜r❛✐❝ ❞✐✛❡r❡♥t✐❛❧ s②st❡♠✳ ❚❤❡ s✉❝❝❡ss✐✈❡ t✐♠❡ ❞❡r✐✈❛t✐✈❡s ♦❢ t❤❡
❛❧❣❡❜r❛✐❝ ❝♦♥str❛✐♥t ❛r❡

G(1)(q) = DG(q)q̇; G(2)(q) = D2G(q)(q̇)(q̇) + DG(q)q̈ ✭✶✾✮

❙✉❜st✐t✉t✐♥❣ t❤❡ ❡①♣r❡ss✐♦♥ ♦❢ q̈ ✐♥ ✭✶✼✮✱ ✇❡ ♦❜t❛✐♥ ❛♥ ❡①♣r❡ss✐♦♥ ♦❢ t❤❡ ❢♦r♠

G(2)(q) = DG(q)M(q)−1D⊤G(q)λ + F (q, q̇) = 0. ✭✷✵✮

■❢ DG(q) ✐s ♦♥t♦✱ ❛♥❞ M(q) ✐s ♣♦s✐t✐✈❡ ❞❡✜♥✐t❡✱ t❤❡♥ DG(q)M(q)−1D⊤ ✐s ✐♥✈❡rt✐❜❧❡✱ ♠❡❛♥✐♥❣
t❤❛t ✇❡ ❝❛♥ ❡❧✐♠✐♥❛t❡ t❤❡ ❛❧❣❡❜r❛✐❝ ✈❛r✐❛❜❧❡ λ ❢r♦♠ t❤❡ ❛❧❣❡❜r❛✐❝ ❡q✉❛t✐♦♥ ✭✷✵✮✳ ❚❤✐s ✐s ❛ ❤✐❣❤❧②
❞❡s✐r❛❜❧❡ ♣r♦♣❡rt② ❢♦r t❤❡ ♥✉♠❡r✐❝❛❧ s❝❤❡♠❡s✱ ❛♥❞ ❤❡♥❝❡✱ t❤❡ r❡❛❞❡r ✐s ❛❞✈✐s❡❞ t♦ ✉s❡ t❤❡ s❡❝♦♥❞
❞❡r✐✈❛t✐✈❡ ♦❢ t❤❡ ❤♦❧♦♥♦♠✐❝ ❝♦♥str❛✐♥t ✐♥ t❤❡ ❞✐s❝r❡t✐③❛t❡❞ ♣r♦❜❧❡♠✱ r❛t❤❡r t❤❛♥ t❤❡ ❤♦❧♦♥♦♠✐❝
❝♦♥str❛✐♥t ✐ts❡❧❢✳

❖❢ ❝♦✉rs❡ t❤❡ ✐♥t✐❛❧ ❝♦♥❞✐t✐♦♥ (q0, q̇0) s❤♦✉❧❞ ❜❡ ❝♦♠♣❛t✐❜❧❡ ✇✐t❤ t❤❡ ❤♦❧♦♥♦♠✐❝ ❝♦♥str❛✐♥t✱
✐✳❡✳✱ ✐t s❤♦✉❧❞ s❛t✐s❢②

G(q0) = G(1)(q) = DG(q0)q̇0 = 0. ✭✷✶✮

❘❘ ♥➦ ✽✵✺✸



✶✻ ❇♦♥♥❛♥s ✫ ▼❛rt✐♥♦♥ ✫ ●ré❧❛r❞

✹✳✹ ■♥✈❡rt❡❞ ♣❡♥❞✉❧✉♠

❚❤❡ ✐♥✈❡rt❡❞ ♣❡♥❞✉❧✉♠ ❤❛s ▲❛❣r❛♥❣✐❛♥ L = 1
2mθ̇2 − g cos θ✱ ❛♥❞ ❡q✉❛t✐♦♥ mθ̈ = g sin θ ✇❤❡r❡

θ ✐s t❤❡ ❛♥❣❧❡ t♦ t❤❡ ✈❡rt✐❝❛❧✳ ❆❧t❡r♥❛t✐✈❡❧②✱ ❧❡t (x, y) ❜❡ t❤❡ ❈❛rt❡s✐❛♥ ❝♦♦r❞✐♥❛t❡s ♦❢ t❤❡ ♣♦s✐t✐♦♥
♦❢ t❤❡ ♣❡♥❞✉❧✉♠✱ s✉❜❥❡❝t t♦ t❤❡ ❝♦♥str❛✐♥t G(x, y) = 1

2 (x2 +y2 −1) = 0✳ ❚❤❡ ▲❛❣r❛♥❣✐❛♥ ✐s t❤❡♥

L =
1

2
(ẋ2 + ẏ2) + mgy +

1

2
λ(x2 + y2 − 1), ✭✷✷✮

❛♥❞ t❤❡ ♠❡❝❤❛♥✐❝❛❧ ❡q✉❛t✐♦♥s ❛r❡

mẍ = λx + u, mÿ = λy − mg. ✭✷✸✮

✇❤❡r❡ ✇❡ ❤❛✈❡ s❡t ❛♥ ❤♦r✐③♦♥t❛❧ ❢♦r❝❡ ❛s t❤❡ ❝♦♥tr♦❧ u✳

❲❡ ✇❛♥t t♦ ♠✐♥✐♠✐③❡ t❤❡ ♦❜❥❡❝t✐✈❡

Min

∫ T

0

x2(t) + (y(t) − 1)2 + u2(t) dt

❋✐❣✉r❡ ✼ s❤♦✇s t❤❡ st❛t❡s x, y✱ t❤❡ ❝♦♥tr♦❧ u ❛♥❞ ♠✉❧t✐♣❧✐❡r λ✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ♣❡♥❞✉❧✉♠
❉✐s❝r❡t✐③❛t✐♦♥✿ ❘✉♥❣❡ ❑✉tt❛ ✹ ✇✐t❤ ✹✵✵ st❡♣s✳
❲❡ t❛❦❡ ❤❡r❡ T = 12✱ m = 1 ❛♥❞ g = 1✳
❚❤❡ ✜♥❛❧ ❝♦♥❞✐t✐♦♥s ❛r❡

x(T ) = 0 , y(T ) = 1
ẋ(T ) = 0 , ẏ(T ) = 0

❚❤❡ ✐♥✐t✐❛❧ ❝♦♥❞✐t✐♦♥s ❛r❡

x(0) = −0.4794255 , y(0) = 0.8775826
ẋ(0) = 1.0530991 , ẏ(0) = 0.5753106

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✶✼

❋✐❣✉r❡ ✼✿ ■♥✈❡rt❡❞ ♣❡♥❞✉❧✉♠✿ st❛t❡s x, y✱ ❝♦♥tr♦❧ u ❛♥❞ ♠✉❧t✐♣❧✐❡r λ✳

✹✳✺ ●♦❞❞❛r❞ ♣r♦❜❧❡♠

❚❤✐s ✇❡❧❧✲❦♥♦✇♥ ♣r♦❜❧❡♠ ✭s❡❡ ❢♦r ✐♥st❛♥❝❡ ❬✼✱ ✶✺❪✮ ♠♦❞❡❧s t❤❡ ❛s❝❡♥t ♦❢ ❛ r♦❝❦❡t t❤r♦✉❣❤ t❤❡
❛t♠♦s♣❤❡r❡✱ ❛♥❞ ✇❡ r❡str✐❝t ❤❡r❡ ♦✉rs❡❧✈❡s t♦ ✈❡rt✐❝❛❧ ✭♠♦♥♦❞✐♠❡♥s✐♦♥❛❧✮ tr❛❥❡❝t♦r✐❡s✳ ❚❤❡ st❛t❡
✈❛r✐❛❜❧❡s ❛r❡ t❤❡ ❛❧t✐t✉❞❡✱ s♣❡❡❞ ❛♥❞ ♠❛ss ♦❢ t❤❡ r♦❝❦❡t ❞✉r✐♥❣ t❤❡ ✢✐❣❤t✱ ❢♦r ❛ t♦t❛❧ ❞✐♠❡♥s✐♦♥
♦❢ ✸✳ ❚❤❡ r♦❝❦❡t ✐s s✉❜❥❡❝t t♦ ❣r❛✈✐t②✱ t❤r✉st ❛♥❞ ❞r❛❣ ❢♦r❝❡s✳ ❚❤❡ ✜♥❛❧ t✐♠❡ ✐s ❢r❡❡✱ ❛♥❞ t❤❡
♦❜❥❡❝t✐✈❡ ✐s t♦ r❡❛❝❤ ❛ ❝❡rt❛✐♥ ❛❧t✐t✉❞❡ ✇✐t❤ ❛ ♠✐♥✐♠❛❧ ❢✉❡❧ ❝♦♥s✉♠♣t✐♦♥✱ ✐❡ ❛ ♠❛①✐♠❛❧ ✜♥❛❧ ♠❛ss✳

❘❘ ♥➦ ✽✵✺✸
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❆❧❧ ✉♥✐ts ❛r❡ r❡♥♦r♠❛❧✐③❡❞✳

(P3)























































max m(T )
ṙ = v
v̇ = − 1

r2 + 1
m

(Tmaxu − D(r, v))
ṁ = −bTmaxu
u(·) ∈ [0, 1]
r(0) = 1, v(0) = 0, m(0) = 1,
r(T ) = 1.01
D(r(·), v(·)) ≤ C
T free

❚❤❡ ❞r❛❣ ✐s D(r, v) := Av2ρ(r)✱ ✇✐t❤ t❤❡ ✈♦❧✉♠✐❝ ♠❛ss ✐s ρ(r) := exp(−k ∗ (r − r0))✳
❲❡ ✉s❡ t❤❡ ♣❛r❛♠❡t❡rs b = 7✱ Tmax = 3.5✱ A = 310✱ k = 500 ❛♥❞ r0 = 1✳

❚❤❡ ❍❛♠✐❧t♦♥✐❛♥ ✐s ❛♥ ❛✣♥❡ ❢✉♥❝t✐♦♥ ♦❢ t❤❡ ❝♦♥tr♦❧✱ s♦ s✐♥❣✉❧❛r ❛r❝s ♠❛② ♦❝❝✉r✳ ❲❡ ❝♦♥s✐❞❡r
❤❡r❡ ❛ ♣❛t❤ ❝♦♥str❛✐♥t ❧✐♠✐t✐♥❣ t❤❡ ✈❛❧✉❡ ♦❢ t❤❡ ❞r❛❣ ❡✛❡❝t✿ D(r, v) ≤ C✳ ❲❡ ✇✐❧❧ s❡❡ t❤❛t ❞❡✲
♣❡♥❞✐♥❣ ♦♥ t❤❡ ✈❛❧✉❡ ♦❢ C✱ t❤❡ ❝♦♥tr♦❧ str✉❝t✉r❡ ❝❤❛♥❣❡s✳ ■♥ t❤❡ ✉♥❝♦♥str❛✐♥❡❞ ❝❛s❡✱ t❤❡ ♦♣t✐♠❛❧
tr❛❥❡❝t♦r② ♣r❡s❡♥ts ❛ s✐♥❣✉❧❛r ❛r❝ ✇✐t❤ ❛ ♥♦♥✲♠❛①✐♠❛❧ t❤r✉st✳ ❲❤❡♥ C ✐s s❡t ✉♥❞❡r t❤❡ ♠❛①✐♠❛❧
✈❛❧✉❡ ❛tt❛✐♥❡❞ ❜② t❤❡ ❞r❛❣ ✐♥ t❤❡ ✉♥❝♦♥str❛✐♥❡❞ ❝❛s❡✱ ❛ ❝♦♥str❛✐♥❡❞ ❛r❝ ❛♣♣❡❛rs✳ ■❢ C ✐s s♠❛❧❧
❡♥♦✉❣❤✱ t❤❡ s✐♥❣✉❧❛r ❛r❝ ✐s ❝♦♠♣❧❡t❡❧② r❡♣❧❛❝❡❞ ❜② t❤❡ ❝♦♥str❛✐♥❡❞ ❛r❝✳

❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ❣♦❞❞❛r❞

❉✐s❝r❡t✐③❛t✐♦♥✿ ❍❡✉♥ ✇✐t❤ ✶✵✵ st❡♣s✳
❚r② t♦ ❝❤❛♥❣❡ t❤❡ ✈❛❧✉❡ ♦❢ C ❛♥❞ ♦❜s❡r✈❡ t❤❡ r❡s✉❧t✐♥❣ ❝♦♥tr♦❧ str✉❝t✉r❡ ❛❢t❡r ♦♣t✐♠✐③❛t✐♦♥✳ ❨♦✉
❝❛♥ ❛❝❝❡ss t❤✐s ✈❛❧✉❡ ❛t ❉❡❢✐♥✐t✐♦♥ ❃ ❇♦✉♥❞s ❃ P❛t❤s ❈♦♥str❛✐♥ts

●♦❞❞❛r❞ ♣r♦❜❧❡♠✿ ❞r❛❣ ❝♦♥str❛✐♥t ❛♥❞ ❝♦♥tr♦❧ ✲ ✉♥❝♦♥str❛✐♥❡❞

●♦❞❞❛r❞ ♣r♦❜❧❡♠✿ ❞r❛❣ ❝♦♥str❛✐♥t ❛♥❞ ❝♦♥tr♦❧ ✲ C = 0.5, 0.6

■♥r✐❛



❇❖❈❖P ✲ ❆ ❝♦❧❧❡❝t✐♦♥ ♦❢ ❡①❛♠♣❧❡s ✶✾

✺ P❉❊ ❝♦♥tr♦❧ ♦❢ ♣❛r❛❜♦❧✐❝ ❡q✉❛t✐♦♥s

❚❤❡ s♣❛❝❡ ❞✐s❝r❡t✐③❛t✐♦♥ ♦❢ ♣❛r❛❜♦❧✐❝ ❡q✉❛t✐♦♥s ❛❧❧♦✇s t♦ ♦❜t❛✐♥ ❧❛r❣❡ s❝❛❧❡✱ st✐✛ ❖❉❊ ♠♦❞❡❧s
❢♦r ✇❤✐❝❤ ❛♥ ✐♠♣❧✐❝✐t ❊✉❧❡r s❝❤❡♠❡ ✐s ❝♦♥✈❡♥✐❡♥t✳ ■♥ t❤❡ ❝❛s❡ ♦❢ ❝♦♠♣❧❡① ❣❡♦♠❡tr✐❡s✱ ♦♥❡ s❤♦✉❧❞
✐♠♣♦rt t❤❡ ❞②♥❛♠✐❝s ❢r♦♠ ✜♥✐t❡ ❡❧❡♠❡♥ts ❧✐❜r❛r✐❡s s✉❝❤ ❛s ❋r❡❡❋❡♠ ✭❛✈❛✐❧❛❜❧❡ ♦♥ ❋r❡❡❋❡♠✳♦r❣✮✳
❘❡❧❡✈❡♥t r❡❢❡r❡♥❝❡s ♦♥ t❤✐s s✉❜❥❡❝t ❛r❡ ❇❛r❜✉ ❬✸❪✱ ❍✐♥③❡ ❡t ❛❧✳ ❬✾❪✱ ❚rö❧t③s❝❤ ❬✶✻❪✱ ❛♥❞ ♦❢ ❝♦✉rs❡
t❤❡ ♣✐♦♥❡❡r✐♥❣ ❜♦♦❦ ❜② ❏✳▲✳ ▲✐♦♥s ❬✶✸❪✳

✺✳✶ ❈♦♥tr♦❧ ♦❢ t❤❡ ❤❡❛t ❡q✉❛t✐♦♥

❲❡ ♥❡①t ❣✐✈❡ ❛ s✐♠♣❧❡ ❡①❛♠♣❧❡ ❢♦r t❤❡ ♦♥❡ ❞✐♠❡♥s✐♦♥❛❧ ❤❡❛t ❡q✉❛t✐♦♥✱ ♦✈❡r t❤❡ ❞♦♠❛✐♥ Ω = [0, 1]✳
❲❡ s❡t Q = Ω × [0, T ]✱ ✇❤❡r❡ t❤❡ ✜♥❛❧ t✐♠❡ ✐s ✜①❡❞✳ ❚❤❡ ❝♦♥tr♦❧ u(t) ✐s ❡✐t❤❡r ✭✐✮ ♦✈❡r ❛ ♣❛rt
♦❢ t❤❡ ❞♦♠❛✐♥✱ ✇✐t❤ ❉✐r✐❝❤❧❡t ❝♦♥❞✐t✐♦♥s✱ ♦r ✭✐✐✮ ❛t t❤❡ ❜♦✉♥❞❛r② ❜② t❤❡ ◆❡✉♠❛♥♥ ❝♦♥❞✐t✐♦♥✳ ❙♦
t❤❡ st❛t❡ ❡q✉❛t✐♦♥ ✐s ✐♥ ❝❛s❡ ✭✐✮

d

dt
y(x, t) − c0 yxx(x, t) = χ[0,a]c1 u(t), (x, t) ∈ Q, ✭✷✹✮

y(·, 0) = y0(x); y(0, t) = y(1, t) = 0, t ∈ [0, T ], ✭✷✺✮

✇❤❡r❡ 0 < a ≤ 1✱ ❛♥❞ χ[0,a] ✐s t❤❡ ❝❤❛r❛❝t❡r✐st✐❝ ❢✉♥❝t✐♦♥ ♦❢ [0, a]✱ ❛♥❞ ✐♥ ❝❛s❡ ✭✐✐✮

d

dt
y(x, t) − c0 yxx(x, t) = 0, (x, t) ∈ Q, ✭✷✻✮

y(·, 0) = y0(x); yx(0, t) = −c1u(t); yx(1, t) = 0, t ∈ [0, T ]. ✭✷✼✮

❚❤❡ ❝♦st ❢✉♥❝t✐♦♥ ✐s✱ ❢♦r γ ≥ 0 ❛♥❞ δ ≥ 0✿

1

2

∫

Q

y(x, t)2dxdt +

∫ T

0

(

γu(t) + δu(t)2
)

dt. ✭✷✽✮

❲❡ ❞✐s❝r❡t✐③❡ ✐♥ s♣❛❝❡ ❜② st❛♥❞❛r❞ ✜♥✐t❡ ❞✐✛❡r❡♥❝❡ ❛♣♣r♦①✐♠❛t✐♦♥s✳
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❼ ◆✉♠❡r✐❝❛❧ s✐♠✉❧❛t✐♦♥s✿ ♣r♦❜❧❡♠ ❤❡❛t
❆s ❛♥ ❡①❛♠♣❧❡✱ ✇❡ t❛❦❡ ✺✵ s♣❛❝❡ ✈❛r✐❛❜❧❡s✱ ✇✐t❤ c0 = 0.02✱ c1 = 20✱ ❛♥❞ ❛ ✜♥❛❧ t✐♠❡ ❚❂✷✵✳ ❚❤❡
❞✐s❝r❡t✐③❛t✐♦♥ ♠❡t❤♦❞ ✐s ✐♠♣❧✐❝✐t ❊✉❧❡r ✇✐t❤ ✷✵✵ st❡♣s✳
❲❡ s❡t ❤❡r❡ γ = δ = 0✱ ✇❤✐❝❤ ❣✐✈❡s ❛ s✐♥❣✉❧❛r ❛r❝ ❢♦r t❤❡ ❝♦♥tr♦❧✳
❲❡ ❞✐s♣❧❛② ♦♥ ❋✐❣✳✽ t❤❡ r❡s✉❧ts ✐♥ t❤❡ ❝❛s❡ ♦❢ t❤❡ ❉✐r✐❝❤❧❡t ❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥ (a = 0)✳ ❋✐❣✳✾
s❤♦✇s t❤❡ ◆❡✉♠❛♥♥ ❝❛s❡✱ t❤✐s t✐♠❡ ✇✐t❤ c0 = 0.2✳
❲❡ ❝❛♥ ❝❧❡❛r❧② s❡❡ t❤❡ ❞✐✛❡r❡♥❝❡s ❜❡t✇❡❡♥ t❤❡ ❜♦✉♥❞❛r② ❝♦♥❞✐t✐♦♥s y(1, t) = 0 ❛♥❞ yx(1, t) = 0✳

❋✐❣✉r❡ ✽✿ ❍❡❛t ❡q✉❛t✐♦♥✱ ❉✐r✐❝❤❧❡t ❝♦♥❞✐t✐♦♥✱ u(t) ❛♥❞ y(·, t)✳
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